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Week 10 —information and fips

This mreek we will be focusing on multiplication as arrays.
Remember, w-hen we are dramwing arrays, we can climb up the
ladder and walk across the roof OR walk across the roof and
climb domw-n the ladder. f\/\ultiplicatiﬁn can be done either MW-aLlY

round. Also Llisten {Ur and use the multiplicatiﬁn MD‘ﬁﬂbMLﬂf%

lots 0% rzpzaizd addition times Arroly.

Ggroups U{

»Click on the %0llﬂwing

Link hi:i:pﬁ://thi.i:zrﬂzszmai:h/s.Lcm/hom,el,earnkng/%.ear-2/
»Scroll tomrards the bottom o} the page Lo %Lnd the pi.nk tab

called Summer Term- Week 5.
>B£{Ur£ Lo-mplzi:i.ng each mworksheet watch the relesant video



https://whiterosemaths.com/homelearning/year-2/

Home lzarning...

Remember to post pictures of
your work in the Class dojo
Forum to receive Dojo point!

Plus, don’t forget the daily challenge




Lesson 1:

Multiplication sentences using b)
the x symbol

There are equal groups with

in each group.
o Complete the sentences.

a) - + - = 20

= = 20
c)
There are equal groups with
in each group.
There are equal groups with
: =18 in each group.
- =8
® =8

& Whiie Fow kiodn HOH



9 Complete the table. e The total is 16 g

The first one has been done for you. What could the addition and multiplication be? g
Addition Multiplication
242 4+24+2 4 x 2
5+5+5

number sentences.

3+3+3+3+3
o Use counters to help you complete the g

2 x 10
a) 3 x = 12
e Complete the pattern.
b) x4=8
5x2=5+5=
) 2 x =10
5x3=5+5+5=

Exd=5+5+5+5=

b x5 =

What comes next? @

B White Ao Ko J0H




Use arrays @

o- How many pears are there?

383383
333383
33333

+ + =
b =
There are pears.

How many stars are there?

WOW W OW W W
PAS AR A G A g

L4 =
ko =
There are stars.

e Write two additions and two multiplications for

the array.

209009 ®
o909 ®
o909 ®

+ + =

4 |

+ + * =

= -

What do you notice?

o Write two multiplications for this array.

k-4 =

& White Row kiodn J0H
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e Draw an array to show 7 = 3 o Draw dots to show each multiplication in

Complete the number sentence. two ways.
-~ - The first one has been done for you.
Multiplication Array 1 Array 2
L LT
LE L]
TIIIIIY il
3xB teessess ees
LE L
-
\ y
2x5
ITx3m=
Is there more than one way to draw the array? o Ax9
o Draw three different arrays to show 12 2n,|
[ ) @ 6 x 1

e Can you see the multiplications 5 x 4 and 4 = 5 g
in the array?

Talk about it with a partner. o

& White Ao Miosha J0H




Use Amrays

1. Maich the amrmays b the commuiaive caloulations.

=

Gax3

=

2w d

o,

&Ex1

e

=

L B B}
LR BB

=

L

dAxb

-

Tx5

-

w2

2 Which ammay shows 3 lobs of § and § loks of 37

o,

-

W
o

L

¢66e
¢66e
¢6ee

3. fsha is describing an amay fo her friemnd.

@ ! My array has 18 counfers.

What mulipkc aions might Asha be solving? Give 3 examples.




The 2 times-table o a) Complete the number line.

——
—
—
—
—
—

o Wrrite a fact from the 2 times-table
to match the picture.

e s o ®

® = 3 times-table

How do you know? @
b)
- - - - - - - o Complete the array and times-table fact so ﬂ,|

that they match.

b) Which times-table does the number
line show?

Tick your answer.

1 times-table 2 times-table

LT " ®®
| . 2= 2=
- =i - - > "S> 90® .
@l @l @l @el X X X X
. : ‘99 ®
'Y X 2 x =8

& White Rose ko J0H



e Complete the number sentences. o Eva is writing 10 x 2 in different ways. 9

a) Ix2= f) =12x2 e —

//_ I can write -
'\_\\ID:EME:H:2+?:H:E

——'_'_

b) =9 x2 gl 2 = =2

) 2x5= h)2x0= o299 T XXX
o9 ® 2 1 X X X 1.

d) 2 = -4 )14 =2 x Find three more ways that you can write
10 x 2
Use counters to help you. g|
e) 12 = x 2 i x 2 =22
» + x

Rosie has twice as much money as Teddy.

© Teddy has £8 @ x + x

How much money does Rosie have?

Rosie has £

Compare answers with a partner. @

o White Ao K J0H




Lesson 4:

The 5 times-table

o a) Match the picture to the times-table fact.

x

ass
ass .

o 5 10 15

b) Draw a picture to show 4 x 5

" b

o a) Complete the number line.

b} Which times-table does the number
line show?

Tick your answer.
1 times-table 2 times-table
& times-table

How do you know?

B White Fow kot HH

&



o Complete the number sentences. o Write <, > or = to compare the calculations. @

a) 5x5= =11x5
] ) 7 %5 Q 5 x B
b =9 x5 & x =5
] 9) b x5 Q 4 x5 +2x5
€) Sxb= h) s x0=

2 x5 Ix5-1=x5
d) 5 x = 40 )10 =5 =

12 x 2 2 w12

e) 35 = x 5 i x 5 = 60 g

A sandwich costs £2 and a box of crayons
costs £5

o How much money does Ron have?

Complete the multiplication.

d

£5

Jack buys 5 sandwiches and 3 boxes of crayons.

How much does he spend in total?

=
Il

Jack spends £
el S >




Friday challenge

See how many challenges you can complete. They start of easy but

get much more difficultl

Challenge 1 Challenge 2

Jane is standing in a queue.

There are 5 people in front of her.

There are 2 people behind her.

How many people are in the queue?

Rosie gives Mo 25 pence.

How much more money does Rosle have than Mo now?



Challenge 3

70 + () =100
50 + A\ =100

O-AM- 0

What is the value of the blue square?

Challenge 4

The perimeter of this regular hexagon Is 42 cm.

Four of these hexagons are put together to make this shape.

What Is the perimeter of the shape?



